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HH - B (3H) - KA - BYS e 2
otttz 2l E8=(AAR)
2,000,000 = 1CH 2,000
OSB3I0t HARS
80,000 »48CH «12& 46,080
ORoHEIN0t MRS
23,0003 «48CH«12& 13,248
Otttz SAHI(SSX 30, AR 10H)
6,600,000 =4CH 26,400
ORI AAE SXEHI(3204)
891,948, 2653 *8%*1. 1 78,492
OFdE SYHFII SHAMAE SFNEHI(
) 25,907,000& *8%x*1. 1 2,280
ORI AIAY 22 2 15,000
OXguHu e =534l 0l &Xidl
4,500,000 »2CH 9,000
O=dg SHFEX XGPS SERS
15,000 »4CH =12 720
OFis ZEFUE SUR=S
50,0003 = 1CH*12& 600
203 YR =&l 1,800 1,800 0
03 A Z=XH S =AY 1,800 1,800 0
OZYZEIR SAWLLR =
2,000,000& x90% 1,800
405 XHoHE S HI 80,000 14,700 65,300
01 AL EZFH S 80,000 14,700 65,300
OsY =Ix &MY 2Y4E)
40,000,000 *2CH 80,000
HE=ZI NsEHSAAE &X 100,000 80,000 20,000
401 Al HIZ 201 Y] 100,000 80,000 20,000
01 A& HI 100,000 80,000 20,000
O tE3t0et A7 £X 100,000
- S eIt et 40,000,000& *2CH 80,000
— AF2EXICH OO 2t 10,000, 000& »2CH 20,000
HFEEXLR M 200,000 200,000 0
401 A& HIZ 2018 200,000 200,000 0
01 A& HI 200,000 200,000 0
O=48=3XUYX XA 40,000 x5,000m 200,000
FUSLEES(FUHEAELIA) 811,432 5,546,657 A4,735,225
56,000
755,432
Bt A2 SSFNHE AL 1,800 151,800 A 150,000
203 YR =2t 1,800 1,800 0
03 AIMFAH S =AY 1,800 1,800 0
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2A NS
Hu: HelED OME MUDEHE 2E
S FUBAHB(FHYSEE) (S &2)
SA - BB B () - MM - BES Ol &t o San HmEET
02 =224l 134,512 126,112 8,400
O3S F=x& NESEH KX E=4
1,000,000 *28H 2~ 28,000
OZYZENE FHRHUL WM
40,000& *600&H 24,000
O3E=XE ASP S X2 4l
10,000,000& «2H £ 20,000
OBOUAL 40ISEF=XE KX E4
300,000& »12& 3,600
OdsFxdE FXE=H| 200,000& »12& 2,400
OLESIIFIUE |FANEHI
200,000& »12& 2,400
OZEF=Xg LdHE CCTV RALZ 4l
170,000,000& *8%x*1. 1 14,960
FHNEEFUHE SN2+
50,000& »400H 20,000
O2HEEEZ) HIIR=s
7,000 *22800 &~ =12 19,152
307 21201 A 169,346 168,271 1,075
05 RIZt2IE = 168,346 167,271 1,075
OFNNHBENE 422
40,000% 1,096 0.8+ 123 0.4 168,346
06 23 1,000 1,000 0
O3SFXE AMES oA MAEE IR
== 100, 000& *53| 500
OFAHNEEFIE EoltHA4MAUEE RIIRE
= 100, 000& *53| 500
308 XXM SOl A 141,000 52,300 88,700
07 IXNSHHARE = 7,000 4,800 2,200
OSEEFNEEANAE REx RFE3
4,800,000& *13] 4,800
OLLESSEFINE AEZ 2,200,000& x13] 2,200
12 J|EtRE=3 134,000 47,500 86,500
OANHIEZX BLEFIUNE(M2EQXZE) 2L+
fe=3 25,000,000 *50% 12,500
OANHIEZX ZSFUE(MSOZAZE) 2L+
2= 135,000, 000& *50% 67,500
OANHIEZ BEFXNEF(RI4SHTUZ) 2L
2 FE2 55,000,000& *50% 27,500
ONHIEE BYFAT(2M) 2949 23
53,000,000 *50% 26,500
401 AIEHIZ 28I 84,750 25,000 59,750
01 A& HI 84,750 25,000 59,750
OZ2I=XE =F CCTV 59,750
—&Held It 810,000 »35CH 28,350




A REWEDY
HH: Hel5) ONE HADNSHE S
S FUBAHB(FHYSEE) (S &2)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
- SLLAAIAE 3,700,000 »4CH 14,800
-JtietEchs s 16,600& =1,000H 16,600
OZSEF=XE A2 22l 1,000,000 =150 £ 15,000
OFHAUNMEFIUE ANES 2l
1,000,000 * 1004 2 10,000
ol Bl gl 81,344 4,854,894 AN4,773,550
801 GildI bl 81,344 4,854,894 A4,773,550
01 LEtoiidl bl 81,344 4,854,894 AN4,773,550
oaolgltl 81,344
SN MFES(FUHEELEIA) 236,676 229,477 7,199
FEXLE B 236,676 229,477 7,199
101 124l 83,097 81,898 1,199
04 D12t Z22XEE+ 83,097 81,898 1,199
OFEX e s = 83,097
-JlE= 81,1963 x3H »300 73,077
-—HEHO= 300,000& »3H 900
-SEXNZUE 300,000 »3H 900
-3z EE= 74,876,400% *4.5% 3,370
- IEEBE= 74,876,400& *1.65% 1,236
—MHEER 74,876,400 x1% 749
- QALEEZ 74,876,400& %3.43% 2,569
- I RYBES 2,568,270 *11.52% 296
201 L2l 135,806 129,806 6,000
01 At 22l 36,200 36,200 0
OLdXAN &8 - & E9HI 253 500,000 12,500
OFZX < s IXAH ME
37&+500,000 18,500
Otz 82 ot £ &9 M 1,700
-t =2 50& *24,0000H 1,200
-89 100, 000& *50H 500
ORSH ARS=(hH) SII 448
1,000& 5004 500
OHSE X 2o 2= 248
250,000& =128 3,000
02 =224l 99,606 93,606 6,000
OFEX et WDEIZ DXAN S &€ RERS
7,500,000& x12& 90,000
OgGXIxte XS XA (AIZEIXIR)
250,000 «1CH 250
OZXIXEE RXBI(AZEIXIR)
3,500,000 = 1CH 3,500
OADIEE SAHI(EXANAY SAZ)
50,0003 *1CH*12& 600

_6_




A REWEDY
HH: Hel5) ONE HADNSHE S
Helr SEIH N FESESIH) cet )
5 - 4
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
OXtE Xt AXAAE S22
348,000& 122 4,176
OR%= SHOIMAT ALY ST 24t
90,000& +x12& 1,080
303 L& 3 17,773 17,773 0
01 243 17,773 17,773 0
OXNHAHET Mg ALZAZ 17,773
HY2AZH (LS 254,141 239,915 14,226
AR2GHI(FXE A 254,141 239,915 14,226
ol 2AH| 254,141 239,915 14,226
101 14 Hl 254,141 239,915 14,226
02 JIEt& 2 == 254,141 239,915 14,226
OSEFEX &5 AAEEMYIIM bl 254,141
-—=3 2,507 ,5703 x6H 123 180,546
- Z U gAY 140,000& 6% «12& 10,080
-tE==g 100,000 6 x12& 7,200
- g 2=l 145,000 *35/40%6H « 128 9,135
—saEeLsy
30,018, 8403 *40/35%84%*5%*6H 8,646
—Here sl 50,000 *35/40+6H 128 3,150
— L2 &l
30,018,840% /12%0.84%0.86%1/30*1/7x140%6 7,229
[w]
-T2 RE 8,887 *44 Al 2t x6H « 123 28,155
HREs(nsSsHH) 5,836,000 0 5,836,000
HWEHAXS(FUHESLES) 5,836,000 0 5,836,000
&= 5,836,000 0 5,836,000
704 &= 5,836,000 0 5,836,000
01 &= 5,836,000 0 5,836,000
OUE = 5,836,000




